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1. 0 measured in degrees is equal to 8 measured in radians if and only if
a. B=xn b. 8=n/2 c¢. 8=2xn d. sinB=0 e. 8=0

2. How many different values of x will satisfy /x+x?=x+x?
a. 0 b. 1 c. 3 d. 4 e. infinitely many

3.  The solution set of |x] + |x+9] = 9 contains
a. no numbers
b. one number
c. two numbers
d. more than three numbers
e. all real numbers

4. IfABC is a right triangle and BD L AC, and if the lengths of AD and AB are 18
and 30, respectively, then the area of a circle circumscribing triangle ABC is

a. 8lmw
B
b. 225%
C. 3247 /
d. 625x A c
e 9500%w

5. One solution of x3+x-2=0 is

6. If x>0 and %rez"—zeﬂl, then x is
a. 0 b. 1 c. In 2 d.In 4 e. 31

7.  One factor of x%+1 is
a. x?+/2x+1

- XPrx+/2

X2+ /2 x+/2

L XE2x+ 2

x%-x+/2

e T



9.

10.

11,

12

VZ
¥) =
a. 0 b. V2 c. 2 d. e. w
When graphed together, which 4 of the following 8 equations form a happy face?
1. x%+y2=9 B, (x+2)2%+(y+2)2%=1
2. x?%+y2=25 6. (x+2)?+(y~2)2=1
3. y=x?-4, -2<x<2 7. (x-2)%+(y+2)2=1
4., y=4-x2, -2<x<2 8. (x-2)}%+(y~2)2%=1
a. 1,3,5,6
b. 2,3,6,8
c. 2,4,5,6
d. 2,3,7,8
e. 1,3,6,8
1 2 0 30 4
Let A=j1 -1 2| and B=0 5 4 |. Which of the following statements is true?
O 1 3 12 11
a A=B
b. AB=A
c.A-B=B-A
d.3A =18
e. AB = BA

If the third term of an arithmetic sequence is 11, and the 30th term is 119, then

the first term is
a. 1 b. 3 c. 4 d. 6 e, 7

A survey of 60 graduating seniors at East High School produced the following
results: 38 of the students had taken Spanish, 15 of the students had taken
French, 5 had taken Spanish and French, 4 had taken French and German, 2
had taken Spanish and German, 1 had taken all three and 5 had taken none of
the three. How many students had taken German?

a. 7

b. 10

c. 12

d. 5

e. 9



13. cos®(x) -sin®(x) =
a. cos(2x)
b. sin(2x)
¢. cos{4x)
d. sin(4x)
e. 1

- 3X+4 =
14. If £(x) =5==, then AA£(x)))

a. x
b. f{x)
C. (£{x))?
d. f(£(x))
e 5f({x)

15. If sin(x+A) =cos (x-24) andif 0sA<x/2, then A =
a. 0
b. n/6
c.n/4
d. %/3
e.n/2

*16. If 2cos (3x) =cos (x) and cos (x) #0, then cos (2x) =
a. 0 b. 1/2 c. 2/3 d. 3/4 e. 1

17.If (1+i)” = -4, then n=
a. 2 b. 3 c. 4 d. 5 e. 6

18. A rocket fired into the air has a height of s (t) =-16 £2+v¢ feet after t seconds,
If the projectile returns to the launch site after 5 seconds, what was the greatest
height it reached during its flight?

a. 50 feet
b. 75 feet
c. 100 feet
d. 125 feet
e. 200 feet

19. Let f(x) ={33—)3{x ;f ffSS A solution to £(£(x))=x is

a, 1/3
b. 1/2
c. 2/7
d. 3/10
e. 7/9



20. The center of a circle connecting (0,0), (1,5) and (5,5) is
a. (2,2)
b. (3,2)
¢. (2,3)
d. (3,3)
e. (4,3)

21. The sum of the geometric series 5 +% ——2 ——5185 +... 18
a. -2
b. 2
c. 2-1
d 2+ i
e. 4+ 2i

22. A street light is at the top of a 15 foot pole. A man who is 6 feet tall is standing
x feet from the bottom of the pole and is casting a shadow whose tip is y feet
from the bottom of the pole. Assuming the ground is level and the pole forms
a right angle with the ground, which of the following is true?

a.x+y=21
b. 16x = 6y

c. 90 = y(y-x)
d. 9y = 15x

e. I6x + 6y = 9

23. If sin(Aa+30°) =3/2—§ and sin(A+45°) =-‘§, then sin(A) 18

a,

b.

ET’ N [N P

c. 3

2
d. ¥8=y/2
4
e. 1

24. If ol:(g ;‘] 02=(2 —01) and 03=(; “01), then (0,+0,) (0,-0,) =

. 1o,

. 210,
0,-0,
. 0,%0,
3io;

e T



26.

27.

28,

29,

30.

If the lengths of AB and BC are 8 and 5, respectively, and 6=30°, then the
length of DC is

a. 1 B
b. 2
c. 3
d. 4
e.5 (Assume AC LBD) S,
A D C

If £{x)=x*+2x%~k and if £ > 0, how many times does the graph of f{x) cross the
x-axis?

PaoTp
Bt e o

If the line, L, is tangent to the graph of x2+y2=10 at the point P(1,3) and ifQ
1s the y-intercept of L, then the area of triangle OPQ is
a. 5/3
b. 1
c. 2/3
d. 10/3
e. =

Three black balls and 1 red ball are placed into a box, and three balls are
withdrawn at random. What is the probability that one of the balls is red?

a. 0

b, 1/4

c. 1/2

d. 3/4

e. 1

The product of the solutions to {1n (x) P=1n(x3) is
a. 0
b. 1
c. e
d. e?v?

e e

The graphs of x?+4y=4 and x2+4y2=4 intersect in exactly how many points?
a. 0 b. 1 c. 2 d. 3 e. 4



g1,

32,

33.

30.

If sinB=yx and cosB=y/Z x and if 0s8s2%, then x is
a. -1

b. 0
c. V2/2

d. /3/2
e. 1/2

For all x>0, the series ¥ e converges to
h=0

a.

exwe—x

If TA and TB are tangents to a circle with center O, then which of the following

18 not necessarily true?
a. OA and OB have the same length

T
b. TA and TB have the same length A (
c. LAOB=120° '
d. AAOT 2 ABOT ‘
B

e. AAOT is a right triangle

How many ways can 8 loaves of bread be divided among 4 hungry people if each
is to receive at least one loaf and if each receives a whole number of loaves?
a. 32
b. 35
c 4
d. 8
e. 70
If 2 is a root of the polynomial 2x3-3x2+kx~4, then k& =

a. 0
-4

® e T
Lo o B



x+e 1f x<-1

36. Let f(x)={ x? if -1sx<2dand let g(x)=e*. Then fg(-1)) is
Ix If x22

a. 0

b. 3e
c. -3e
d. (e-1)?
e e?

37. If tan8=%, then sin20 =

a. 3/5 b. 3/10 c.6/yi0 d.2/9 e. 3/y10
38. A number is divided by its sum with 2, resulting in x. The original number is
a X
Tox+2
b, X
T ox-2
c. .
T 2-x
d 2X
1+x
e 2X
T -3
5 2 _
A S R
a. -1
b. 1
c. 2
d. i
e. 2t
40, Which of the following functions satisfies (lx) =[’(—}j:c)?
- X
a. £{x) prt
b, Flx)=X1
X+2
__x+2
¢ £(x) P
d. f(x)=22%
1+x
e, F(x)= 2x+3
Ix+4












